{ H (X|09-26)

N E

klo

[20254E 09E 13 17A| 2E ]

0] 7~10km Of & L|CY.

Ho

ELICE A2 H=

F(132! 00:00~17:00, mm)

=1
=

7ol ZFgRE|of

ot

Ho

OfLtZE LI,

7t |7} S

2Lt

.
=3

- S URE S0l M2

ZLCk

|
A

<
A
ol

mjo

SR

- HFESE2 718 HI7F W2l 2a, SFX

#47

1

:Lh

==}
=

(

57| HEEfLICE

ol g2l5}7] HRRLICE.

ujo
31

Xt
A

= 02|

A(VFR)

A|ZHOBA|~ =) Al A

SHAIZ| BEZFLICE.

2l

ALl BHEA] 20

s
b

OH ~, ™ MO

Ho &0 L
100 T

|7t LH2|HA FE A E7F 1,000ft LHQ|2 WOHE W7t LS LT

=
=

 TELE) 2




TAF 2E 17A] 7|Z)

o 13(5) 142()

g | 17|18 | 19| 20|21 | 22 | 23|00 01 02|03 04 05 06| 07f 083 09|10 11 12 13 14 15 16 17

AE -RA | -RA| -RA -RA -RA

24 RA | RA RA RA | RA | RA
off  RA | -RA RA

o4 | -RA

labuey Fol =z =

O FAte
Ko S, U 85 8F ZSEF A, fFS)9] 7|80 57|48 FE|8https//amokmagokr) S M (T
L O L 4 #F ME[2)0|M =HQISHA|Z| HEZLIC.




